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package jp. ict.aso.model;

import java. io.Serializable;

public class SlotmachineBean implements Serializablel
int numA, numB, numG;
int kaketen, zanten;
String mes;

int matchi3=5;
int matchi2=2;

public SlotmachineBean () {

|
: public void slotRolling () {

mes="";
numA=new java.util.Random(}).nextInt (10)%10;
numB=new java.util.Random(}. nextInt (10)%10;
numC=new java.util.Random(}.nextInt (10)%10;
i f ((humA==numB) && (numB==numC)) {
zanten=zanten+kaketenxmatchi3;
mes="VerryGood *;
Yelse if ((numA==numB) | | (numB==numC) | | (numA==numC)) {
zanten=zanten+kaketenxmatchi?2;
mes="Good ”;
lelsef
zanten=zanten-kaketen;

© public int getNumAQ) |
I return numA;

: public int getNumB() {
: return numB;

: public int getNumC() {
: return numG;

: public int getKaketen() {
: return kaketen;

: public void setKaketen(int kaketen) {
: fhis.kaketen = kaketen;

- public int getZanten() {
. return zanten;

: public void setZanten(int zanten) |
: this. zanten = zanten;

.
: public String getMes() {
> return mes;
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